Test-1: Reasoning Ability
1. In a certain code language "TERMINAL is written as
‘NSFUMBOJ’ and ‘TOWERS' is written as ‘XPUTSF’.
How is MATE' written in that code?
1)FUBN 2JUPNB 3)BNFU
- 4) BNDS 5) Noae of these
2 The positions of how many digits in the number 5314687
will remain unchanged after the digits are rearranged in
ascending order within the number?
1)None 2)One 3)Jwo 4)Three 5) More than three
3. What should come in place of question mark (?) in the
following series?
AC BG K MO ?
DR 2)QS 3)OR 4)PS  5)None of these
4. ‘BRID' is related to ‘DIRE’ m:hcmmn‘ltll‘ﬁ'u
related 1o
DEPR 2)PERI - 3)EPRI 4)PEIRR 5)IPRE
5.  How many meaningful English words can be made with
the third, fifth, séventh and ninth letters of the word
DOWNGRADED, using each letter only once in each
word?
1)None 2)One 3)Two 4)Three 5) More than three
Directions (Q. 6-10): In each question below, a group of
digite/symbols Is given followed by four combinations of
letters numbered 1), 2), 3) and 4). You lave to find out which
 afthe combinations 1), 2), 3) and 4) correctly represents the
groap of digits/symbols based o the following coding system
and the conditjons that follow and mark the number of that
combination as your answer. If none of the four correctly
mhmdm-t!),h‘ﬂmd
these, as the answer.
DightSymbol: S 9@0© 381 35%426%758#
letiercode: BEPAKDFHQIRJUMYVT
" Conditlons:

@ If the first unit in the group is an even digit and the last

unit is a symbol, both these are to be coded as the code
for the symbol.
(i) If the first unit in the group is an odd digit and the last
~ unit is an even digit, their codes are to be interchanged.
. @) 'Ifboth the first and the last unit in the group are symbols,
+  both these are to be coded as ‘X",
6

1)JEFHRP 2PEFHRP  3)XEFHRX
4) PEPHRJ 5) None of these

L
)KMDTAE  2)KDMATE . 3)EDMTAK
4KDMTAK  5) None of these

8 4@312 |
3) XPKFRX

1) VPKFRY 2)VPKRRI

4)IPKFRV 5) None of these
9. ®4I8T® -

1) QIFDMU 2) UIFDMQ 3) XIFDMX

4) UIFDMU 5) None of these'
10. 912486 : .

- NERRIV] 2)JRRIVE J)ERIVE

4 XFRIVX 5) None of these

Directions (Q. 11-15): In the following questions, the
symbols 8, %, %, $ and © are used with the following
meanings as illustrated below:

‘P % Q' means ‘P is not smaller than Q'.
‘P % Q' means ‘P is neither greater than nor equal to Q'
‘P 5 Q" means ‘P is neither smaller than nor equal 1o Q'.
‘P $ Q' means ‘P is neither greater than nor smaller than Q'.
‘P © Q' means ‘P is not greater than Q".

Now, in each of the following questions, assuming the
given statements to be true, find which of the two conclusions

1 and 11 given below them is/are definitely true. Give answer

1) if only conclusion I is true.

2) if oaly conclusion II is true.
3) if either conclusion I or Il is true.

4) if neither conclusion I nor II is troe,
5) if both conclusions | and I are true.

1l. Statements: DST, T®M, M%)
Conclusions: 1. JD ILMOD

12 Statements: Sw K, KS$N, N%R
Conclusions: LRSK ILR*K

© 13, Statements: H%F, FxW, WSE

Concluslons: LESF  ILHSW

14, Statements: Z 38D, DOK, K&§M
Comclusions: LMD ILZ3K

15. Statements: WOB, NO&B, NOF
Concluslons: LF6B ILW%N
Directions (Q. 16-20): Study the follewing information

carefully and answer the questions given below.

P.T,V,R, M, D, K and W are sitting around a circular
table fasing the centre. V is second to the left of T. T is fourth

to the right of M. D and P are not immediate neighbours of T.
D is third to the right of P. W is not an immediate neighbour

of P. Pis on the immediate left of K.
16. ‘Who is second to the left of K?
P 2R IM
HW 5) Data inadoquate
7. Who is on the immediate left of V?
D IM HW
4) Data inadequate 5) None of these



18 mumuﬂmd:mutw
DT AHP - HM smmutm
19. \thi:!l‘s ‘with fespect o V?
1) Third to'the right’ -
‘3) Thind to the left 4}muum
5) Fourth to the left ' AR
2. mmmw&mmmmm
on their positions in the above seating arrangément'#nd
mm.mmdummmm
to that group? .

HDDW 2)TP © 3)HVM '4HRD- SKR

Directions (Q. 21-25): Each of the questidus’ below

consists of a question fnd two statemesits numbered | and [
given below it. You have to decide whether the date provided
hmm-:mmﬁq-u—m
both the statements and givemtawer =~ '°

1) ﬁﬂudﬂzm“‘!ﬂﬂﬂﬂﬂnm

* the question, while the data in stateraetit Tl slooe are

not sufficient to nster the question.

2) if the data in staternené 1 dlone e sufficient to answer
the question, while the Mlilmllhln
not sufficient t0 afiswéy the quostion.

3 lflhsdndﬁuhmmmurhmn
nimemuﬂicht ﬂl ’

4) if the data given in umendﬂ

together are not b“hm

5) if the data in both the stasements { and Il together asc

necessary to answer the quostion. '
21 Towards which directiostod Village T is Village M7

L Village P is 1 the south of Village M and Village Pis.

to the west of Village T.

I Village K is torthe eastof Village Mand Village K s to
the north of Village T+

» mmm:mwﬁuﬁm:w: |

birthday?
L mmmuhm lmy
is before eighteenth But after twelfth July.

IL Mohan's sister correctly remembers that their mather 's

myummmmmm
23, How is D related to M?. :
L Kand D are the only sisters of R.
IL M is magried o R'S father. S
4, Howis n’:ﬁnnhtwleb‘u.ﬂ 5
L g0 near the tree' i written a5 * s&84 pa ' .uu
code language.
IL ‘tree is near home® kmn‘hnlm h:ln
code language.  *
25. AmongA, B, GMEU&:&I”M-:
exam, who has scored the lowest magks?
L Dhnmadmnuhﬁqdrh-dh.
IL A has scored more marks than only.B. -
mto-mhb.*m
carefully and answer the givelt' questions.

'W;Mm ST

a particular rule. The following is an illustration of input and
rearrangement. (All the numbers are two-digit numbers.)

Inptst; pisik for 25 72 white jar 1296 .

Step I 96 pink for 25 72 white jar 12

Step II: 96 for pink 25 72 white jar 12

Step I1: 96 for 72 pink 25 white jar 12

Step IV: 96 for 72 jar pink 25 white 12 -

' Step ¥: 96 for 72 jar 25 pink white 12

Step VI: 96 for 72 jar 25 pink 12 white

And step V1 is the last siep of the rearrangement.

As per the rules followed in the above steps, find out in
each of the-following questions the appropriate step for the
given input. (All the numbers are two-digit numbers.)

26. Imput: 16 power failure 61 53 new cost 27
How many steps will be required to complete the

m‘? :
‘DSt - 2) Seven 3)Five
Hfour - 5) None of these

77" Stép M of an Input: 84 ask quit these 39 12 old 51
“Whith'of the following will definitely be the input?
1) quit these 39 120ld 84 ask 51
2) quit these 39 12 0ld 51 84 ask
s}qmummuksouousl ,

Nﬂld’thue .
"2 .8 md-mﬁswssmpm«izs

Mmmmﬂhw&dnmu

mw 2) Three

4)Six 5) None of these
2. Input: rows 25 columns 39 46 fear star 72

Which of the following steps will be the last but one?

mf 2}“ 3}“1 4)VIll  5) None of these
3. Inpat:ondinary 47 tablet 36 dry 91 32 handie

Whigh of the following will be step VI of the

rearrangement? :

Y94 dry 47 handle 36 32 ordinary tablet

2) 91 dry 47 handle 36 ordinary 32 tablet |

3) 91 dty 47 handle 36 ordinary tablet 32

4) There will be no such step. .'

5)Noms ofthass

Directions (Q. 31-35): Study the following information

3) Fve

A,B,C,D,E, Fand G are seven members of a club. Each
of them likes. one day of the week, viz Monday, Tuesday,

Wedpesday, Thursday, Friday, Saturday and Sunday, not
necessarily in the same order. Each of themp owns a different

 cax, viz Swift, Alto, Figo, Beat, SX4, Estillo and Optra, not

necessarily in the same order.
C likes Wednesday and his favourite car is neither SX4
w%!hﬁﬂcﬂmﬁynﬂhhmuu

“ Beat. The favourite car of the one who likes Friday is Figo.
. The one whose favourite car is Estillo likes Tuesday. D likes

A word and number srangement machine whes given, . Saturday and D's favousite car is not $X4. G's favourite car is

nmhdm-ﬂman

Alto. F likes Thursday. B does not ke Estillo.



31.

- 1) F-Thursday-Estillo

Who among the following likes Tuesday?

1A 2)B 3)D

4) Data 5) None of these
m&mguﬁgn? :
DA ... 5 - 2)B ‘3)F

4C ' 5) None of these

Who among the following likes Sunday?

DA - 2C H)F HE - 5) Datainadequate
Whose favourite car is SX47 .
DB . .. DA 3)F 4HD 5) None of these

Which of the following combinations is correct?
2) C-Wednesday- Alto
3) D-Saturday-Beat 4) G-Mond:y-Swift
5) All are incorrect

Directions (Q. H)'lnudlqmmmm

statements followed by two conclusions numbered 1 and IL.
You have to take mmimmmhmmn
they seem to be at variance with commonly known facts.
Read all the conditions add then decide which of the given
conclusions logically follows from the given statements,
mmmmuwm '

1) if only conclusion I follows,
2) if only conclusion II follows.

- 3) if either conclusion I or I follow

4) if neither canchusion I nor Il follow

- 8) if both conclusiocas I and II follow.

Statements: Some trees are bushes.
Allfhm“blulwl
Conclusions: I At least some bushes are trees.

' I.Athutmﬁommm

Nop-inlhnhulh
Conclusions: L At least same brushes are colours.
¥. No brush is a colour.

Ceoncinstons: L Atlun same fertilizers are chemicals.
2 R All fertilizors hro organics.

L m No air is solid.

- Some solids are liquids.
Comclusions: L No liquid is air.
"~ 1L Some air is definitely not liquid.
w All gems are diamonds.
. Al diamonds are rogks.

Conclusions: L At least some rocks are gems,

I All gems are rocks.

Directions (Q. ﬁ&).hﬂdhmmm Mﬁhﬁu““ﬂhﬂﬁ“m
Mhmm-mhmlhmmm A




Test-11: English Language

Directions (Q. 51-55): In each of these questions, two
sendences (1) and (11) are given. Each sentence hass blaik n
it. Five words 1), 2), 3), 4) and 5) are suggested. Oui of these,
only one fits at both the phaces kn the context of eacl sentence.

The number of that word s (he answer.
51. L Boats take more timegoing against the ________ of
the river.
IL She keeps herself abreast of events.
Diow 2)lstest  3)water 4)all 5) current
52 L While trying to open the door, the ___ broke.
IL It is not difficult 1o thicky sjtuations.
1) handle 2) knob 3) bracket
4) overcome 5) win gy
53. L This course teaghes you got to _. 0
temptations.
IL We hope 10 ingrease our of rice this year.

1) succumb 2) praduce 3)yield 4) share 5)subwmit
$4. L When you play yosr radio at high it disturbe
others.
IL We have just received a lptest
encyclopedia.
1) edition 2) volume
4) frequency  5)pisgh
55. L It beips to rimse one's mouth sarly moming with
a________of salt and water.
I You can always refer to this referenge materiafto find

of this

%) channel

the o these probems.
1) mixture 2)answers ~ 3)liguid
4)fix 5) solusion -

Directions ((). 35-60): In each questios below a santence
with four werds printed in bold type Is given. These are
numbereda 1), 2), 3) and 4). One of these fomr words pelnted
in bold may he either wrengly speit or inappropriste in the

i 2 3 4 5

Loutext of the sentence. Find out the word which s wrongly
spelt or inappropriste, if any. The namber of that word is
your answer. If all the words printed in bold are correctly
spelt and also appropriafe in the context of the sentence,
mark 5), ie ‘Al correct’, 55 your answer
6. de?mhﬁ:-w
and new fechnelogipal appreaches. All correct
, 3) 4) 5)
57. The first thing that catches your eye in this bullding is .
) ¢ 2)
the Mour with laser ights. All correct
3) 4) 5) :
58 The sarvices sector has eontribated signifjcantly to the
1) 2) 8)
economic grew . All correct
s 4) 5 .
59. IT campanics have boan allotied dmmding in this area 0

). Other fhen the reguiar imcentives, the govermment is
1) » 3)
offering lend sites st concessbenal rates. AH aorrect
4) 5)
Directions (Q. 61-65): Which of the phrases 1), 2), 3)
g 4) ghvew below should repiace the phesse gven in beld in
the following sputence ip make the sentence gramoatically
corpecs? If the seatence fs corvect as it is and no correction

is roquired, ssark 5) as the atswer.
. 61. In serms with scating capecity, it is the third largest
stadium ja India.
1) On termns with 2) As far as
3) In gespective to wems with  4) In terms of
" 5)No correction required



62 That actor can double for the star if needed be.
1) if need 2)if need be
3) while it is needed 4) whenever needed be
5) No correction required
63. The 1982 Asian Games brought about a major change in

India.

1) brought after 2) bring after
3) best resulted 4) bring around
5) No correction required

64. Tourism surely has suffered given the huge social unrest
in the country.

1) giving the huge  2) because to  3) as the huge

4) taken the huge  5) No correction required
65. Combining the ongoing crisis in Europe, the data does

make a case for a pause in rate hike.

1) Together 2)Apart with  3) Combined with

4) Combination of  5) No correction required

Directions (Q. 66-80): Read the following passage to
answer the given questhons based on it. Some words/phrases
are printed in bold to help you lecate them while answering
some of the questions.

The e-Waste (Management and Handling) Rules, 2011,
otified by the Ministry of Environment and Forests, have
the potential to turm a growing problem into a developmental
opportunity. With almost half a year to go before the males
take effect, there is enough time to create the necessary
infrastructure for collection, dismantling and recycling of
electronic waste. The focus must be on sincere and officient
implementation. Only decisive action can reduce the polhation
and health costs associated with {ndia’s hazardous waste
recycling industry. If India can achieve a wansformation, it
will be creating a whole new smployment sector that provides
good wages and working conditions for tens of thousands.
The jegacy response of the States to even the basic law on
wrban waste, the Municipal Solid Wastes (Management and
Handling) Rules, has been one of indifference; many cities
coatinue to simply burn the garbage or dump it in lakes, With
the emphasis now on segregation of waste at source and
recevery of materials, it should be feasible to implement both
Wis & rules efficiently. A welcome feature of the new e-
Waste rules is the emphasis on extended producer
responsibility. In other words, producers must take
responsibility for the disposal of end-of-life products. For
this provision to work, they must ensure that consumers
who sell scrap get some form of financial incentive.

~ The e-waste rules, which derive from those pertaining to
bhazardous waste, are scheduled to come into force on May 1,
2012. Sound as they are, the task of scientifically disposing a
few hundred thousand tonnes of trash electronics annually
depends heavily on a system of oversight by State Pedlutions,
Control Boards (PCBs). Unfortuvately, most PCBs remain
waccountable and often lack the resources for active
enforcement. [t must be pointed out that, although agencies
handling e-waste must obtain environmental clearances and
be authorised and registered by the PCBs even under the

Hazardous Wastes (Management, Handling and
Transboundary Movement) Rules 2008, there has been little
practical impact. Over 95 per cent of electronic waste is

" collected and recycled by the informal sector. The way

forward is for the PCBs to be made accountable for
enforcement of the e-waste rules and the levy of penalties
under environmental laws. Clearly, the first-order priority is
to create a system that will absorb the 80,000-strong
workforce in the informal sector into the proposed scheme
for scientific recycling. Facilities must be created to upgrade
the skills of these workers through training, and their
occupational health must be ensured.

Recycling of e-waste is one of the biggest challenges
today. In such a time, when globalisation and information
technology are growing at a pace which could only be
imagined a few years back, e-waste and its hazards have
become mare prominent over a period of time and should be
given imumediate attention.

66. What, according to the passage, is important now for e--

waste management?
1) Making rules 2) Reviewing rules
3) Implementing rules 4) Notifying rules
5) Amending rules
67. Which of the following can be one of the by-products of
effective e-waste management?

1) India can guide other countries in doing so.
2) It will promote international understanding.
3) It will promote national integration.
4) It will create a new employment sector.
5) It will further empower judiciary.
68. Which of the following rules has not been indicated in
the passage? .
1) e-Waste Rules 2011
2) Polution Check Ruiles .
3) Hazardous Wastes Rules, 2008
4) Municipal Solid Wastes Rules
5) All these have been indicated
69. “Both sets of rules” refers to which of the following?
1) Solid wastes and hazardous wastes
2) e-waste and hazardous waste
3) Solid waste and e-waste
4) e-waste and e-production
5) Solid waste and recycling waste
0. e-Waste Rules have been derived from those pertaining
to

1) Hazardous waste 2) PC waste
3) Computer waste 4) Municipal solid waste
5) National waste
71. Which of the following will help implement “both sets of
rules™?
1) Employment opportunities

2) Internationd collaboration

3) Financial mcentive

4) Segregation of waste at source
5) Health costs



72 e-Waste Rules came/will come into force from
1)2008 2) 2009 3)2010
4)2011 5)2012
73. Which of the following best explains the meaning of the
phue“whrhmldmlyhummdlfewymm"
as used in the passage?
1) It was doomed.
2) It took us a few years.
3) It took us back by a few years.
4) Imagination is better than IT.
5) None of these
74. Which of the following is true in the context of the
passage?
1) No city dumps its waste in lakes.
2) Some cities burn garbage.
3) PCBs have adequate resources for active enforcement.
4) e-waste was a mugh bigger challenge in the past.
5) None of these
75. Which of the following is not true in the context of the
passage? '
1) Some form of financial incentive is recommended for
the producers.
2) Some financial incentive is recommended for the
consumers.
3) e-waste will be a few hundred thousand tonnes.
4) The agencies handling e-waste have to obtain
environmental clearances.
5) Those involved in e-waste management would need
to upgrade their skills.
Directions (Q. 76-78): Choose the word which is most
nearly the same in meaning of the word printed in bold, as

used in the passage.
76. Clearance _
1) Cleaning 2)Permission  3) Sale
4) Remedy 5) Clarity
T7. Tam
1) Throw 2) Chance 3) Send
4) Transform 5) Rotate
78. Potential
1) Intelligence  2) Aptitude 3)Pm|:ibimy
4) Portion 5) Will

Directions (Q. 79-80): Choose the word which is most
opposite in meaning of the word printed in bold as used in

the passage.

79. Feasible
1) Unattended  2) Physical 3) Practical’
4) Unviable 5) Wasteful '

80. Indifference _
1) Interest 2) Difference 3) Ignorance
4) Rule-bound  5) Insignificance

Directions (Q. 81-90): Read each sentence to find out
whether there is any grammatical error in it. The errvor if
any, will be in one part of the sentence. Mark the number of
the part with error as your answer. H’lhnium
mark §). -

81. 1) If you have made a mistake / 2) while filling up the
form / 3) you should be informed / 4) the Income Tax
department immediately. /5) No error

£2. 1)Reading newspapers will/2) help you/ 3) in understand
banking / 4) and business concepts. / 5) No error

83. 1) Government departments should / 2) share information
with / 3) one another so that / 4) they records are up-to-
date. / 5) No error

84. 1) The bank will decide / 2) unless Ashok is / 3) eligible

for a loan / 4) based on his monthly salary. / 5) No error

1) The power supplying in / 2) many states has been / 3)

badly affected because / 4) of the shortage of coal. / 5)

No error

86. 1) The government has many / 2) new schemes for people
IS}whommmM}hninminmﬂm /5)
No ervor

87. l)Mnunfmm:t!!}uﬂuadbybmhmf?a
customers who had savings bank accounts / 4) was
decided by RBI early. / 5) No error

88. 1) To provide more such facility / 2) to its workers, the
company / 3) is planning to build / 4) schools and parks
in the township. / 5) No error

89. 1) Every year this IT company / 2) conducts training
programmes / 3) for employees so that / 4) they learn
new skills. / 5) No error

90. 1) According to newspaper reports, / 2) there is more
internet users / 3) in small towns / 4) than in metros. / 5)
No error
Directions (Q. 91-100): In the follewing passage, theré

are blanks, each of which has been numbered. These

numbers are printed below the passage and against each,
five words are suggested, one of which fits the blank
appropriately. Find out the appropriate word in each case.

Today, countries all over the world are experiencing many
natural disasters like floods and earthquakes.

In 2011, the United Nations conducted a (91) on the
natural disasters that occurred (92) 1975 to 2007. Their report
said that the (93) of natural disasters has increased
tremendously (94) we do not respect the environment and
(95) unsafe cities. Some countries like Japan are also (96) in
the areas where earthquakes often take place. (97) countries
cope with these natural disasters efficiently (98) making
technological developments. So, Japan invests in (99)

We cannot avoid challenges but must face up to them.

-

91. 1)war 2) discovery - 3) study
4)experiment  5) test

92 1)earlier 2) before 3) sooner
4) from 5) throughout

93. 1) loss 2) time 3) reports
4) examples 5) number

94, 1) therefore 2) because 3) that
4) accordingly  5) simply

95. 1)live 2) travel - 3) build

5) crowded

4) constructs



9. 1) located 2) situate 3) position
4) put 5) nearby :

97. 1) When 2) These 3) How
4) Neighbouring 5) Any

9. l)for 2)is 3)in spite
4)try 5) by -

99. 1) designing 2) drawing 3) buying
4) damaging 5) falling ¥

100. 1) finally 2) noisily 3) naturally
4) luckily 5) easily
Test-IH: Quantitative Aptitude

Directions (Q. 101-115): What should come in place of
question mark (?) in the following questions?

5 ¥ 4
,=X2==-= T
sed Sl g

13 11 ey |
)23 )1 325
Ly 21
4)3 1 5) None of these
102 108x5.5%x84="
1)458.69 2)489.96 3)498.96
4)485.69 5) None of these
103.45+5-05=7 .
1)10 212 3) 9.5
4)8.5 5) None of these
104, 3.5 % (60 + 2.5)= ?
1)62 2)96 374
4)88 5) None of these
105, (x4 x4 x4x4x4) x(4x4x4)" +(4) = (64)'
117 2)10 316
4)11 5) None of these
106.5x 7= B484 + 4
1)4442 2)4242 3)442.2
4)422 5) None of these
107, 7059 - 2350 + 1936 = 7 x 50
DI236 2)1323 3)1326
4)1239 5) None of these
108. 16% of S50 + 7% of 500 = 2.5
1)5.64 2)8.11 3)7.04
4}6‘3.1 5} None of these
109, B648 - 7652 =7x 40
1)24.7 2)289 3)274
4)259 5) None of these
110. 22% of 364 - 7=23
1)50.02 2)57.08 3)53.16
4)59.14 5) None of these
111.683.46-227.39-341 85="
N11422 2)141.22 3) 14422
Hli2n 5) None of these

m 231l
3 4 2

11 12 11
B 10-= §2=
D% 21053 12
11 Boa
4) gﬁ 5) None of these
113. J7-5=2200
1) J2704 2) (527 3) J52
4)52 5) None of these
114. 14.5% of 608 = ?
1)88.16 2)86.18 3)81.68
4)86.88 5) None of these
115.840 +40+0.5="
1)85 2)21 3)105
4)42 5) None of these

Directions (Q. 116-120): What approximate value

should come in place of question mark (?) in the following
questions ? (Noté: You are not expected to calculate the exact

value.)
116. 750.0003 + 19.999 =7
1)49 2)18 NN 4)45 5)38
117. 6888.009 487,999 - 87,989 = ?
D000 2)6570 3)6430  4)6200  5)6310
118. (9.52=7
D75 29 3125 4110 580
119. 19.003 x 22.998 - 280.010 = ?
1)220 2)110 3) 160
4)90 '5) 200 '
120. 5454 + 54+ 5="
1)15 I iy - 3)30
4)20 510 }

Directions (Q. 121-125): What should come in place of
question mark (?) in the following number series?
121. 10000 2000 400 80 16 32 ?

1038 2)045 3)064 4)0.54 5) None of these
12.2 10 42 170 ? 2730 1092

1)588 2)658 3)596 4)682  5) None of these
123.600 519 ?7 406, 370 M5 39 -

1)435 2)455 3)425 4)445  5) None of these
124.5 7 15 75 525 4725 51975

ne )10 )8 .. ..BS 5) None of these
1253 6 12 24 48 9% 7 |
D192 2) 182 3)186 4)198  5) None of these

126. Three women and 18 children together take two days to
complete a piece of work. How many days will nine
children take to complete the piece of work if six women
can complete the piece of work in three days?

I)Nine 2)Seven 3)Five 4)six 5) None of these

127. What will comie in place of both question marks (?) in the
following question?

0 16
2 ()
DI6 264 32 44 5)8



" T s™ e
difference between the largest and the smallest fraction?
pE I 51 5L 5 Noneofthese
'3 P Yu 9% Im
129. The average weight of 21 boys was recorded as 64 kg. If
the weight of the teacher was added, the average
increased by one kg. What was the teacher’s weight?
"1)86kg 2)64kg 3)T2kg
4)98 kg 5) None of these
mmwimﬂf:mnmmmhm.u
the perimeter of the square is 72 cm and the length of the
rectangle is 12 cm, what is the difference between the
breadth of the rectangle and the side of the square?
1)9cm - 2)12em J)18cm
4)3cm 5) None of these
131. Find the average of the following set of scores.
253, 124, 255, 534, €36, 375, 101, 443, 760
1)427 2)413 JH4l
4)49%0 5) None of these :
132. Raj sold an item for ¥6,384 and incurred a loss of 30%. At
what price should he have sold the item to have gained

a profit of 30%7
1)T14,656 2)%11,856 T3S
4) Cannot be determined 5) None of these

133, What would be the simple interest accrued in four years
on a pri of 18,440 at the rate of 15 pcpa?
1)%1,075 2)T12,250 HTI1,500
4)T12,985 5) None of these

134. A truck covers a distance of 640 km in 10 hours. A car
covers the same distance in 8 hours. What is the ratio of
the speed of the truck to that of the car?
D3:4 2)1:2 3)5:6 4)6:7 5)None of these

135. The ratio of Sita's, Riya's and Kunal's monthly income is
84 :76: 89, If Riya's annual income is ¥4,56,000, what is
the sum of Sita's and Kunal's annual incomes? (Ih some
cases monthly income is used while in othérs anhual
income is used.) '
1)T11,95,000 2)%9,83,500 3)%11,30,000
4)T10,38000  5) None of these :

136. The sum of 15% of a positive number and 20% of the
same number is 126. What is one-third of that number?
1)360 2) 1080 H120 '
4)40 5) None of these - -

137. Nandita scored 80% marks in five subjects together, viz
Hindi, Science, Maths, English and Sanskrit; wherein
the maximum marks of each subject was 105. How many
marks did Nandita score in Science if she scored 89 marks
in Hindi, 92 in Sanskrit, 98 in Maths and 81 in English
1)60 2)75 G
470 5) None of these '

138. At present, Anil’s age is 1.5 times Purvi's. Eight years
hence, the ratio of the age of Anil to that of Purvi will be
25:18. What is Purvi's present age? "

1) 50 years 2)28years . 3)42years
<~ 4) 36 years 5) None of these

139. The average of four consecutive numbers A, B, C and D
is 49.5. What is the product of B and D? :
1)2499 2)2352 3)2450
4) 2550 . 5) None of these

140. Faisal walks 325 metres every day. How many kilometres
will he walk in four weeks? |
1)6.2km 2)9.1km
4)78km 5) None of these

141. Niraj incurred a loss of 55 per cent on selling an article
for £9,549. What was the cost price of the article?
1)%27,700 2) 25,600 3)%21,220

_5) None of these

142 What is the difference between the compound interest
and the simple interest accrued on an amount of ¥16,200
at the end of three years at the rate of 25%? (Rounded

3)8.6km

. off to two digits after decipal.)
1TI21344 2)T3302.42 3)T3495.28
4)¥3290.63 5) None of these

143, A 280-metre-Jong train crosses a platform thrice its length
in 6 minutes 40 seconds. What is the speed of the train?
1)3.2m/s 2)14m/s 3)28m/s
4) Cannot be determined 5) None of these

144, The area of a rectangle is equal to the area of a circle with
circumference equal to 39.6 m. What is the length of the

rectangle if its breadth is 4.5 metre?
1)33.52m 2)21.63m 3)31.77m
4)21.12m 5) None of these

145. In how many different ways can the letters of the word
‘VENTURE' be arranged?
1)840 2) 5040 3) 1260
4)2520 5) None of these

146. In order to pass an exam, a student is required to get 780
m.#mtol‘ﬂ:ew.&:mplm“tsudw
declpred failed by 5 per cent. What is the maximum

sregate marks a student can get in the examination?

1) 1040 2)1100 v 3)1000 g
4) Cannot be determined ~5) None of these
147. What would be the measure of the diagonal of a square

whose areajs equal to 882 sq cm?
1)38cm 2)32cm 3)42cm
4)48 cm 5) None of these

148. A man riding a bicycle completes one lap of a circular
field along its circumference at the speed of 14.4 km/h in
| minute 28 seconds, Wt is the area of the field?

1)7958sqm 2) 9856 sqm
3)8842sqm 4) Cannot be determined
§) None of these

149, Harish, Dilip and Asha start running around a circular
stadium and complete one round in 27 seconds, 9
seconds and 36 seconds respectively. In how much time
will they meet again at the starting point?

1)1 mind48sec  2)2min36sec  3)3min 11 sec
4)2min25sec  5) None of these



150. On Children’s Day, sweets were to be equally distributed
among 300 children. But on that particular day 50 children
remained absent. Hence each child got one mmj
How many sweets were distributed? :

2)1700 3)1500

5) Cannot be determined A

1)1450
4)1650

'I?e&t:IV: General Awareness '
(with Special Reference to Banking Industry)

151. maummngumr.mmmm
bank? ;
I}Pmﬂdmgpmjectﬁm .
2) Settlement of payments on behalf of the customers
B}DemdmgpohcymthRR.SLRdeepoRm
4) Issuing credit/debiVATM cards = .
ﬂmmnﬁumfmhmrﬂmm
152 The Election Commission of India is giving training to
mulemnloﬂiﬂmofwhichofmefollowuumm
_ in its neighbourhood? .
1) Nepal 2) Pakistan
4) Bangladesh  5) Bhutan
153. What is money laundering?
1) Conversion of assets into cash '
z}mmdmmﬂmwlym
3) Conversion of cash into gold
4) Conversion of gold into cash
5) Conversion of gold into foreign currency - .
mmwm.mmvmmwmmm.
IAEA Governors approved the safety plan so that it.can
be implemented by all the countries willing to adopt it.
m:lmwformuﬂmwmhn;mﬂwmof

3)China

1) Nuclear Energy 2) World Trade
3) International Banking ~ 4) Defence '
5) Social Welfare

mwmurmefmhwimhm:mmmddnbit
cards?
I}Nnb-ddnbnmbuhnndmnnufmmvmr
2) No interest earning for banks

"' 3) Works like a normal withdrawal slip - .

4) 45 days’ cnd:tupvmmﬂwcudm

§) All the above

156. Shanti Swarup Bhatnagar Awnd is given for excellence
in the field of

1) Literatare 2)Music ! :
3) Sports 4) Science llﬂ'Ihchnology
5) Social service

lﬂwngafwhlchnfﬂwfoﬂowinlisnulhndin;fm
infrastructure sector?

1) Highway project

2) Construction of Educational Institution -

S]Comucdmofﬂoaﬁnl_ it

4)L.lym;ofpeuoleumpipelinu

5) Higher Studies
lﬂlmgﬂurbamufmuhmltwnuelinl{uﬂmy

1) Amarkant 2) Shrilal Shukla
3) Nirmal Verra ' 4) Harivansh Rai Bachchan
5) Malti Joshi

159. Which of the following is a measure taken by the Reserve
Bankufhﬁammﬂuﬂmmmwmum?
1) Increasing the CRR
2) Increasing the SLR .
3) Contraction of supply of currency
5) Decreasing the SLR
160. Leila Lopes, who was crowned Miss Universe recently,
is a citizen of o
1DUSA  2)Britasin 3)Brazil 4) India 5) Angola
161. What type of loan is granted by banks for purchase of

white goods?

1) Consumption loan 2) Mortgage loan
3) Consumer durables loan 4) Home loan

5) None of these '

162, Helle Thoming Schmidt is the first woman Prime Minister
of .
1) Norway 2) Brazil
4) Argentina = 5) None of these
163. What is a stale cheque?
1) A cheque issued without the drawer’s signature
2) A cheque with only the signature of the drawer
3) A cheque which has completed six months from its
date of issue
4) A six months’ post-dated cheque
5) Any one of these
164. The 34th General Assembly of the International
Organisation for Standardisation (ISO) was organised

3) Denmark

recently in
1) London ZINch;hi 3) Vienna
4)Milan 5) Stockholm

165. Ram has been nominated in the Savings account of Sita.
Ram requests the bank authorities to allow him to operate
~ Sita's account as she is unwell. What will the bank do?
1) Bank will allow Ram to operate the account as he is
the nominee. :
2) As nomination will come into effect only after death
of the depositor, Bank will not allow,
3) As Ram is the husband of sita in addition to being
the nominee, the Bank should allow,
4) Out of pity for Sita and on account of long-term
relationship, the Bank may allow.
5) Bank can take a promissory note from Ram and allow
him to operate the account.
166. Who among the following is the author of the book Last
Man in the Tower?
1) Vikram Seth | 2) Kiran Desai
" 4) Chetan Bhagat 5) Aravind Adiga
167. Which of the following is ‘material alteration’ of a
~ negotiable instrument?
1) Converting an order cheque to bearer’s cheque
2) Converting a bearer's cheque to order cheque

3) Shobhaa De



3) Crossing of an uncrossed cheque
4) Writing an amount on a blank cheque .
5) Putting a signature on the back of a cheque
168. Which of the following days was proclaimed as
“International Literacy Day” by UNESCO?
1) 8th September  2) 18th September  3) 18th October
4) 8th October  5) 28th November
169. What do you understand by the term “Mortgage'?
1) Sale of a movable security in the event of default by
the bormrower
2) Registration of charge with the Registrar of Companies
3) Making the security of immovable property available
as a cover for a home loan by the borrower
4) Registration of charge with the Regional Transport

Authority
5) Returning of the security to borrower by the bank on
receipt of full payment
170. Which of the followin;houawtﬂlhﬁmmms
Dhoni in the Territorial Army ?
1) Major General 2) Sergeant B)de

4) Licutenant Colonel  5) Colonel
171. Which of the following constitutes the largest percentage
of Retail loans in India?
1) Auto loans
3) Personal overdrafts
5) Home loans
172 Which of the following is a food crop?
1) Jute 2) Jatropha 3) Jowar
4) Cotton 5) Tobacco
173. Credit risk to the bank is high in whick of the following
cards?
1) Debitcards  2) Credit cards
4) All the above  5) None of these
I14Whomlhnfollowhuhﬂﬂrlwm?

2) Personal loans
* 4) Consumer loans

S}ATMM

1) Sania Mirza 2) Azim H Premji
3) Leander Paes 4) Ricky Ponting '
5) Rahul Dravid

175. Depreciation of an asset occurs due to
1) Fire in the unit  2) Theft - 3) Labour trouble
4) Wear and tear  5) None of these

176. Which of the following international events is associated

with the game of car racing? '
1) Twenty 20 2) FIFA World Cup
3) Dubai Open 4)Sinmmmndp|h'
5) Grand Master
AT, MduMhNﬂrlmdel
commercial bank?
1) Capital > Bmwhp&unlml

3) Call money borrowings 4) Deposits
5) Cash reserves with RBI
178 mmuwunmmmw
India in International events? :
1) Mahesh Bhupathi 2) Pankaj Advani
3) Jeev Milkha Singh 4) Vijendra Singh
5) Zaheer Khan :

179. Which of the following is a Credit Card Association?
1) IndiaCard 2) MasterCard 3) SBI Cards
4)Citi Bank Cards  5) BOB Card

180. Which of the following Indian companies makes
tractors?

1) Maruti Suzuki 2) Ford Motors ~ 3) Ashok Leyland
4) Mahindra Gujarat 5) Tata Motors
181. Which of the following is not an electronic banking

delivery channel?

1) Mobile Vans 2) Mobile Phone Banking
3) Internet Banking ~ 4) Tele Banking

5) ATM
182. Who among the following women is a4 Minister in Union
Cabinet?

1)M Vijava Shanthi  2) PriyaDutt  3) Sonia Gandhi
4) Sushima Swaraj  5) Ambika Soni

183. The rate at which the domestic currency can be converted
into foreign currency and vice versa is known as
1) Exchange rate 2)MIBOR
3) Inter-bank call money rate  4) Base rate
S)LIBOR ]
184. Which of the following is NOT a major IT company in

India?

1) CMC Lad 2) Raymonds

3) HCL Technologies 4) Infosys Technologies

5) Tata Consultancy Services
I185. Which of the following institutions is an asset

reconstruction company?

DHCIBIL  2)DIOGC 3)BCSBI  4)ARCIL S}IRDJ\
186. Which of the tollowing terms is used in the field of

Economics?
1) Biosphere 2) Exchange Rate  3) Equator
4) Harmonic Tremor  5) Lignite
187. Crossing on a cheque can be cancelledby the ______
' nf:hgchaqund:rhi:fulhignm.
1)payee©  2)drawee 3) endorser
4) holder 5) drawer

Immm‘mfm‘:lmmtahmn

at present?

1) Ban Ki Moon  2) Pascal Lamy 3) Margaret Chan

4) Dmitry Medvedev 5) Kaushik Basu
189. thhufthefdbmgcmmufmmmm

is not an NPA?

1) Standard account 2) Substandard account
3) Doubtful account 4) Loss account
5) All the above .
190. Who among the following is the Cabinet Secretary of
Govt of India at present?
1) Ajit Kumar Seth 2) Ranjan Mathai
3) Shiv Shankar Menon 4) RK Singh
5) None of these
191. Whnchofﬂnfollowm;muundmthcmuf
Cricket?
1) Leg-Bye 2) Smash 3) Kidney Punch
4) Deuce 5) Love



192. Which of the following is a metal?
1) Chlorine 2) Zinc 3) Neon
4) lodine 5) Hydrogen
193. Which of the following is the name of India's space
launching vehicle?
1) Edusat 2) G-SAT 3)PSLV
4) Kalpanal 5)HTPB

194. Who among the following is the author of the famous
Russian classic book The Mother?

1) Maxim Gorky 2) Vladimir Nabokov
3) Leo Tolstoy - 4) Edgar Allan Poe
5) Nikita Khruschev
195. Which of the following is NOT a game?
1) Billiards 2) Polo 3) Bridge
4) Wrestling ~ 5) Olympic
196. Which of the following is the name of a Chinese food
equally popular in India? ;
1) Chopsticks  2) Sumo 3) Chowmein
4) Fengshui 5) Kanji

197. Which of the following films has been directed by Karan
Johar?
1) Wake up Sid  2) Chandni Bar 3) My Name is Khan
4) Fashion 5)Ra. One

198. Which of the following awards has been given to Brajesh

Mishra in 20117
1) Padma Vibbushan 2) Bharat Ratna
3) Rajiv Gandhi Khel Ratna ~ 4) Padma Shri
5) Man of the Year 2011
199. Which of the following is the Capital of Madhya Pradesh?

1) Indore 2) Lucknow 3) Dehradun
4) Bhopal 5) Raipur

200. Kabul is a town in
1) Pakistan 2) Nepal 3) Bhutan
4) Bangladesh 5 Afghanistan

Test -V: Computer Knowledge

201. The smallest unit of information a computer can

understand and process is known as a
1) digit 2) byte S)nmpbw
4) kilobyte J) bit

202. Compatibility, wihmnll'dtooomputﬂt.mfmtu
1) the software doing the right job for the user
2) it being versatile enough to handle the job
3) the software being able to run on the computer
4) software running with only other previously installed
software
5) software permanently available in the computer

28. A mmnlmm:tmﬂu
stylus to send signals.
1) touchpad 2) TrackPoint  3) graphics tablet
4) trackpad 5) keyboard

ﬂm‘[umﬁcmmﬂmahsnsu:tmbmhmmofa
document in Word is
1) Justify 2) Bold
4) Right 5) Balanced

3) Center

205. A partially completed workbook that contains formulas
and formatting, but no data, is called a
1) prototype 2)template - 3)model
4) function 5) None of these
206. A byte can represent any number between 0 and
1)2 2255 3)256 4)1024 5)1025
207. Connectivity for a new computer means
1) allowing a printer to be connected to it
2) having a modern and/or network connection to
communicate with other computers
J) connecting the software to the hardware of the system
4) connecting 2 mouse, a keyboard and a printer — all
essential hardware pieces for the average user
5) software permanently available to the computer
208. A is used to read handwritten or printed text
tomlhucﬁptlhm:gemltusmmmemory
1) printer 2)laserbeam  3) scanner
4) touchpad 5) keyboard
209, The shortcut key Ctrl+F in Word is used
1) To view document in full view
2) To open the Formula dialog box
3) To save the file :
4) To open the Find and Replace dialog box
5) None of these
210. Each cell in a Microsoft Office Excel document is referred
to by its cell address, which is the
1) cell’s column Label
2) cell's column label and worksheet tab name
3) cell's row label : .
, 4]¢=lllmwmdcolumnllbeh
5) cell’s contents
211. The most widely used code that represents each
character as a unique 8-bit code is

1)ASCII 2) Unicode
3) binary numbuing system  4)EBCDIC
S)ACSII

212 Opu:nngnﬂmmd utility pmgrmminulmof
software known as

1) application software  2) lequentul software
3) software suites 4) BIOS software
5) system software :
213, OCR stands for _
1) Optical Coding Recogniser

2) Ostensibly Characterised Reader
3) Original Code Reader
4) Original Character Reader
5) Optical Character Recognition
214. The Open, Print, and Save buttons are all located on the

1) Status bar 2) Formatting toolbar
3) Standard toolbar 4) Title bar
5) Status and title bars

215. To copy a cell, you would drag the cell border while
simultaneously holding down the Ctrl key when
1) You have one or more cells to copy.
2) Only some of the cells are visible in the window.



3) Yow don’t 'want to refer to absolute references.
4) The distance between cells is short and they are both
visible in the window,
5) None of these
216, The permanently etched program in ROM that
automatichlly begins executing the computer’s
instructions is the
1) BIOS 2) ROM
4) RAM 5) None of these
217. Information stored in RAM is considered volatile, which
means it is
1) stored there permanently.
2) not held permanently, only temporarily.
3) stored when the electricity is shut off.
4) stored permanently in the CPU device.

3)CMOS

5) None of these

218. The display size of aumonitor is measured
1) zig-zag 2ynorizontally  3) vertically
4) from centre to the furthest comer
5) diagonally

219. The name of a Microsoft Office Word document is
displayed in both the and the taskbar,
1)Menu bar  2) Taskbar  3) Formatting toolbar
4) Standard toolbar 5) Title bar

220. Excel is designed to provide visual cues to the
relationships between the cells that provide values to
the formulas or the cells that depend on the formulas by
1) Bolding the cell references to match the colour coding

of the borders around the referenced worksheet cells.

2) Highlighting the cell references.

3) Colour coding the cell references in the formula to
match the borders around the referenced worksheet
cells.

4) Bolding the cell references.

5) None of these

221. A limitation of software that digitises voice data is that it
1) is prohibitively expensive.

2) must be trained to recognise individusl vorces.

3) can only be used on high-end compuiers.

4) cannot be used oa laptop computess.

5) cannot be used on desktop compuders.

222. External devices such as printers, keyboards aad modems
are known as
1) add-on devices 2) peripherals
3) extra hardware devices 4) PC expaasion siot add-ons

; 5) special-buys '

223. The higher the resolution of a mosdtor, the

1) larger the pixels 2) dass clear the sceven is

3) further apart the pixels 4) closer sogether the pixels

5) None of these

224. To select a Word, you click it
1) once , 2) twice
4) four imes 5) None of these

225. This Excel feature includes functions to ealculate an
Average, Minimum, Maximum, and Count.

3) three times

1) Format 2) Number
4) Calculate S)MIN
%6. For a computer to recognise and understand analog data,

© it must first be
1) sent to a mainframe for interpretation
2) analyzed by the ALU of the CPU
3) decoded
4) analysed for viruses
5) digitised
227. Expansion cards are inserted into
1) slots 2) peripheral devices  3) the CPU
4) the back of the computer 5) pegs
228. Which type of software is distributed free but requires
the users to pay some amount for further use?
1) freeware 2) shareware 3) rentalware
4) public-domain software 5) abandonware
229, Using Print Preview is useful when you want to
1) Colour the document  2) Save the document
3) Delete the document &) Copy the document
5) View how the document will appear when printed
230. What does a Website address uniquely specify?
1) Web browser 2) Web site 3)PDA
4) Storage 5) Hard disk
231. A pixelisa
1) picture clemeat or dot oa a screen.
2) point of ink om a laser printed page.
3) poiat of ink on an ik jot-primed page.
4) light beam wused as an input device.
5) None of these
232. The most comemon pointing input device is the
1) teackball 2) wouchpad 3) touchscreen
4) mouse 5) scanner
233, The file that is created through word processing is a
1) database file 2)sorage file  3) worksheet file
%) document file  5) graphical file
234. Wb pages aro saved in
1) hetpd/ ZTHTML
4) Ui, 5) None of these
235. What are the two parts of an e-mail address?
1) User same and street address
2) Lega! namic and phone number
%) User nam¢ aad dormain name

3) AmoSum

format.
3)DOC

236, If employecs reside in different parts of the country and
neod 10 meet manthly, wseful compater technology would
be
1) video-display software 2) video digitizing
%) videoconfereacing ~ 4) video scanning
5) Nome of these

237. The whee! located between the two standard buttons
oa a mouse is used to
1) click in Web pages  2) shutdown
3) click and select items 4) jump to different Web pages

3)seoll



mmwﬁmummmﬁw
structures, civil, engineeting, drawings akd maps
1) CAD programs 2) desktop programs
3) drawing prograems ) painting programs
5) vidéo/andio programs
2%, Advanced word processing features include all except
creation of
l)llmuhndmndfom
2)columns
3) detafled architectural drawings
4) styleshests '
5) None of these
mmmth&mﬂmum
as &(n)
1) Host
- 3) E-mail server
5 None of these °
1 can erpret voice data into words that can
. be understood by the computer
1) Spoech input hasdware
2) Tulking software
3) Word recognition softwate
4) Speech recognition softwase
5) Adobe reader
242. A touchpad responds to
1) light 2) pressure
4) the sense of heat from fingertips
5) None of these

2) E-mail client
4) Listserv

3)clicking

3. What is the term for calculations used within |

spreadsheets?
) analyses  2)ranges
4) recaiculations 5) valoes

3) formulas

244, This is a set of values that you want to chartin Excel.

)Object  2)Numbers 3)DataMar
4)Formulas  5) Data series

245, Before you can begin using e-mail, you must have a(n)
1) Browser 2) Modem 3) Server
4)Scanner 5) Account

246, Until a computer can recognise handwriting, an input
device must
l}m:hemfcrmmmmmduym;e
2) optimise the information
3) digitise the information
4) show the information on a screen
§) become an output device also

247.The pointing device that comes built into & laptop
computer can be uny except a |

3) touchpad

1) mouse 2) trackball
4) pointing stick 5) None of these
M&The_bmmthitdisphysthewindnwnmtheen&re_
screen is
1)Scroflbox ~ 2) Downsize
4)Minimize  5)Maximize
249, The .xls extension is used for _____
1) Windows  2) Access
4) Word 5) Excel
250 Which of the following are tasks that may be completed
when configuring your e-mail client?
1) Provide the IP address of your ISP's mail server
2) Provide the name of your e-mail account
QSpaclfythatmulutobcdeletedfromthehost
computer after it is downloaded to your computer.
4 All of these
5) Noue of these

3) Restore Down

files.
3) PowerPoint
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